
 
 
 

ROBOTY NAWIERZCHNIOWE 
 
 

Zał. 7    
 

 
 

Lp 

 
 

Pikietaż 

 
Podbudowa gr. 20 cm z 

tłucznia 31/63 

 
Warstwa wiążąca 
gr. 74cm z betonu 

asfaltowego 

 
Warstwa ścieralna gr. 4cm 

z betonu asfaltowego 

 od do m2 m2 m2 
1 0+000,00 0+041,50 41,5x5,0=208 41,5x5,0=208 41,5x5,0=208
2 0+041,50 0+068,50 (27,0x13,0)+{(5,0x5,0)-

(0,25(3,14x5,0x5,0)}=356
(27,0x13,0)+{(5,0x5,0)- 
0,25(3,14x5,0x5,0)}=356

(27,0x13,0)+{(5,0x5,0)-  
 0,25(3,14x5,0x5,0)}=356

5 0+068,50 0+075,00      6,5x4,0+=26 6,5x4,0=26   7,0x4,0=26
6 0+075,0 0+350,00 275,0x4,4=1210 275,0x4,2=1155 275,0x4,0=1100

Razem 1800 1745 1690
 


